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Every year world environment day is celebrated on:-
ye a fAva yufaver Ry 9o smar € -

(@) SJune (5 5@ (b) 5 September (5 Ryeram)
(¢) 2 October (2 dagay) (d) 10 March (10 )
The most stable ccosystem is :- 71 Rer TRReRY 3 £
(@) Ocean (W4z) (b) Forest (Gia) (¢) Desert (a&f) (d) Mountain (vsre)
The term 'Ecosystem' was coined by :- mRRURS v @ s o |
\i:;i])"ll‘ ansleyf(EWé) (b) Odum @irew) (c) Ritter (Rey) (d) Stoddert (@rew)
11Ch one of the following is included in the bioti - ‘.

_ ot - E%#T : s lic components of ecosystem :

(a) Primary Producer (mife swmes) (b) Macro-consumer (Jva Su¥aan)
i;)h .Dﬁcomp{;ser (e (d) All of these (@ wnf)

ICh one of the following is included in the primary producer of -
TRRURA 7 B Wi Somes & R B g e
(a) Plants (Yg—di) (b) Bacteria (Rrary)

(¢) Carnivorous (HiEeE™ Wia) (d) Herbivorous (sma@Emd)
Biotic component of an ecosystem is - uRRafe® &3 &1 RS TeF 2
(a) Light (w&m=i) (b) Soil (3e1) (c) Plant (den) (d) All of these @& W)
Which is the following is the most important element of ecosystem?
FefeRea & 4 o1 w1 RS o3 &1 wewg! 0w 82
(2) Energy flow (Swit wam) (b) Food chain (@rer #jwen)
(c) Ecological Succession (@RRafrard srmH) (d) Food Web (@ wm)
An organism that feeds plants only is called :- T® S 1 ®aer 9T BT @ET &
(a) Carnivore (WivRRY) (b) Omnivore (WafER)
(c) Herbivore (I1®=R]) . (d) Dentritivore (F=T-TeT))
What 1s the original source of almost all the energy in most ecosystem?
e TRRefae a3 § i St &1 aralRe |a T 87
(a) Carbohydrates (FEEZgCH) (b) Carbon (&1d=)
(¢) Water (&) (d) Sunlight (@ =1 9&T)
Which one of the following is responsibl&for ecological imbalance in ecosystem?
TIRRfG®! G5 # IHgad & [y =4 4 319 1o Iore 87
(a) Afforestation (@FRmvr) (b) Biodiversity Conservation (sia fafaemr wvem)
(c) Deforestation (@=3e=)  (d) Sustainable development (R@e fawm)

Which one of the following 1s not a renewable energy?
FEfaRad 7 ¥ $F UF TG0 I7g Hal T8 27

(a) Geothermal energy (T @wil) . (b) Hydropower (Sier )
(¢) Nuclear energy (amifdd o) (d) Solar Energy (¥R %wll)
Rene wable energy resource is 1 A FdiHawor gra Sl GERE 8-

(a) Coal (e (b) Petroleum (Tgieram)
(¢) Fuel wood (@1 3&) (d) Natural Gas (mfe %)

World Forest Day is ;- fd%q a7 fdaw &

(a) 5 June (419 SfF) (b) 21 March (21 #T=)

(c) 16 September (16 RyR) (d) 30 October (30 37TER)

Deforestation leads to :- fFrd=fievor & 8ar & —
(a) Soil erosion (FaT 2MTE)
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(b) Habitat destruction (wrgfd® =) | (PTO)
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(¢) Drought (g (d) All of them (gerft & woh)
Chipko movement is associated with & ey apaer w1 WA H

(n) Water pollution (ure wguor) (h) Soil Pollution (a1 W)
(¢) Forest conservation (a1 He&Y) (d) Sound Pollution (enfr wegam)
Which of the following is not a non-traditional source of energy?

i & 4 o yw de-wegra sl el a8t g2

(a) Atomic enerpy (] &) (b) Solar Energy (4 'ﬂifﬂb
(¢) Tidal encrpy (wnflu W) () Wind encrgy (crares ot

In India tidal energy is producing in the arca of -

wieer N o wort s ware fear o ver 8- ”

(n) Kuchha (@ew & W) (b) Sundervan Delta (477 Jeer e )

(¢) Godavari Delta(aradl Swer 4 i) (d) Mahanadi Delta F'ii{l?ﬁf? "Qiﬁ'fl). 1
Which one of the following is the important factor respongible for decline of bio-diversity?
Qg fARwar & ) @ Rie B @ el ares g meggul 9 o7

(a) Destruction of Habital (uamr @i fasny)

(b) Genetic assimilation @jaiftrn arridimwi)

(¢) Controlling pests (-treren Gfvefi v =)

(d) Controlling predators (weviidrdt am Frizvi)

Red Data Book includes - Y8 @w@r gu a1 3ifdmw e 4 -

(a) Timber Trees (garl o) (b) Red Forest (arer d+1)
(¢) Economic Plant (anfitfw wowa wia id) (d) Endangered species (g Bie g
Carbet National Park is in :=  wide “ywérer umf §:-

(a) Uttar Pradesh (@tm wav) (b) Madhya Pradesh (#21 w&vr )
(¢) Uttarakhand (STRIANG 3) (d) Rajsthan (ro14e1r)
Environmental education is targeted 1o - wafaur [ o1 ¢e forar war G-

(a) General Public (@rm =mRw)

(b) Professional Social groups (erawnfia o i)

(¢) Technicians and scientists (@w-NRwr afe danfre)

(d) All of the above (Sugaa @)

Which pollution is gcncratcd by burning plastic or polythene?

enRew At ullaeh @ e & @)F1-Tr gguur grim B7?

(a) Noise Pollution (e wgmo) (b) Air Pollution (aryg sream)

(¢) Water Pollution (G1e7 wrgyul) (d) Radioactive pollution (ffasor nggom)
Radiation is a health hazard because it causes:- R @ ey amer §, 74l g v 8-
(a) Malaria (1eRun) (b) Cholera (&) (¢) Cancer (H) (d) Influenza (S[T)

Noise pollution starts at how many decibels of sound?

wafy wggur Ryerft Iias eafy & g o 87

(a) 50-60 (h) 80-90  (c) 40-70 (d) 20-30

Which of the following is result of green house effect?

Pr=farfer A & W sl vy @1 aRuim 7

(a) Risc of Temperature (dgem i) (b) Industrial development (shelifra )
(¢) Population growth (Sraer gfe;)  (d) None of these (g1 o B} *TEY)
Deforestation lcads to := TR & g ¥

(a) Soil erosion (&T JURT) (b) Habitat destruction (rafees Q=)
(c) Drought (Y= (d) All of these (=1 & @)
The environmental problems related with Dam construction are;-
e ufReorET W Wtk vafarer waeard 8-
(a) Extinction of some plants and animals species

@O uTey q ST WorRr @ fagwinLeT]

(b) Landslides (y&@e) (c) Soil erosin(ar amwes) (d) All of these (&7 o)
Which of the following waste material is degradable? g B W AR T T ©7
(a) Plastic (=nfied) (b) Metal () (¢) Glass (74) (d) Paper (HTT)
Coal. Petroleum and Natural gas are © - Frre, Teeram e wnfie i 8-

(a) Fossile Fuels (sframed ge) (b) Renewable fuels (Fra@eell gem)

(¢) Alternalc energy sources (@efeam ol W) (d) None of these

Bhopal gas tragedy was caused by - e R AN g awoe W ge -

(a) Carbon Monoxide (@1 AT ) -

(b) Carbonyl Chloride (FTATTET TANES)

(2)

LE—
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(c) Methyl cyanide (RuEs |EAES)
(d) Methy! Isocynate (FRITgel JTgHI WIEHT)

Which of the following is an aquatic disaster?
Prafeiad A, B 6 Wil AT 67

(a) Tropical Cyclone (8w wfeawiiy wwaw)  (b) Earthquake ()
(¢) Landslide ({eae) (d) Tsunami (g
Ex-situ conservation is done in : - HRURTE WRervr gy &
(a) Zoos (wir SE) | g T (b) Botanical Garden (e
(¢) Forest Research Institute (@ arum wwrE)  (d) All of these 1 A T ) !
One of the major cause of contimination of green fruits and vegetables (s -

=8 Wittt ol well & UNT BT U6 W HROT {7 e
(a) Excessive irrigation of farmland (@ %% @t 3w Ried)

(b) Use of farm manures in fields (@ ¥ gy @iz @1 wayy)

(¢) Use of insecticides and pesticides (WaT % @iems) ajx PTG S SRPT B gay

(d) Faulty storage and transportation techniques (S9qet wwswor afy yReaes o " )
Which one of the following states has done compulsion of implementing rain ing i

ok : water | ‘
building at first time in India. 5 1arvesting in cvery
HRA H TN WA WU B (RS WaH H wawem aFaw e o wer—

(a) Tamilnadu (ST (b) Karnataka (#1e®) (c) Rajasthan (Rromers)(d) Punjab (dwima)

Which of the following is not a green house gas? F=fiam ¥ & w1 0 fi7r wrow 4 78 2
(a) Carbon dio-oxide (FHTSAITHES) (b) Methan (o)

(c) Chlorine (FR=) (d) Nitrous oxide (g% e
The infensity of Earthquake is measured on : S BT istem T ) 2= . )

Tie Iam)

(a) Ricter Scale (e W) (b) Metre (#ieR)

(c) Decibel (S¥dw) (d) Litre (cfreR)

Ozone depletion in the stratosphere leads to ;R RERGRR & M Ragswor § 2y 8-

(a) Forest Fires (a7 aift=) (b) Global warming (q—sieita Tige)

(¢) Water pollution (Ser ygum) (d) Smoke pollution (g7 wguw)

Which is not a natural disaster? 359 | &1 Ud WiGAd maer 787 &7

(a) Cyclone (3i®h) (b) Nuclear explosion (Fr@ra fawee)
(¢c) Earthquake (&™) (d) Volcano (Sareizh)

The causes of malnutrition and hunger are : - HYNY TAT T BT BRI & -

(a) Poverty and Political unrest (T4 3iR sw+ifas aranf)
(b) Civil War and Class conflict (g g€ a a7 wem)
(c) Under distribution of resources (Wa®MT &7 = faron) (d) All (73 5+1)
Silent Valley has been preserved at it has ;- Wga~ #ell &1 it v@r 731 @ Fifd 36
(a) Recreation value (Rithass #ew ) (b)Natural forest (Tafis a=)
(c) Valable timber plant (dg%ca aFs! It U3 #)
(d) Rare plants and Animals (& 1% 3R W #)
1st December is celebrated as : - 1 R &7 79T W € -
(a) National Youth Day (osfia gar faaw)
(b) World Environment Day (favg gafazor faaw)
(c) World Pollution Day (faea S=i=am fdaw)
(d) World AIDS Day (R tsw Raw)
Shantiniketan was set-up based on environmental ethics by :-
wifdFeaa ygiarer & G & forv et far -
(a) Jawaharlal Nehru (Saevare 5e% gR1)  (b) Mahatma Gandhi (A& Tl €T)
(c) Rabindranath Tagore (Rfa==mer 2R gR) (d) Vidyasagar (RemFR gR)
Which of the following Tribes is not found in Jharkhand?
= 2 ¥ B FEWiia IREE A T8 Il 9N 8
(a) Munda (gu=1) (b) Oraon (S%/@) (c) Gond (Mve) (d) Bhil (#re)
Rain Water harvesting can be done using :- N7 ST REvT fba T T o
(a) Richarge pits (Rari 7@ & gR)  (b) Recharge trenches (Remd S @ EN)
(c). Abandoned bore wells @@ IR 9@ & ERI) (d) All of them (Swfaa &)
Major (Big) dams may cause - 91 €4 ol &
(a) Earthquake (@w) (b) Hurricanes (@) (c) Storms (aif) (d) Cyclones (P aTe)

f

N, N

Which of the following is a top carmivore? Preg & @ @ O iEmERy t?wi’t)
(a) Tiger (@) (b) Crocodile () (c) Hawk (&) (d) All of them (STITI
| (3) |
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One method of Nitrogen fixation in nature is by -Tgg FeRer mgfie # @ T 98 N
(a) Thunder (Rwah) (b) Rain (asf) (c) Lighting (srsrefa fasreh) (d) Storm (3rT)
3. Energy flow in any ecosystem is always: - uil ¥ars RRefa@z @3 HdaT-
(a) Bidirectional (&f<em) (b) Unidirectional (W?ﬁfa‘m) g
(c) Multidirectional (agfeem) (d) None of the abovc‘ (Pr% * Te))
). Maintaining biodiversity in natural habitats is called:- ugfas oAd ﬁﬁum ¥1® &N BT &
(a) Ex-Situ (s=iRefts wwem) (b) In Situ (WRefTH &) :
(¢) In Vitro (g7-fegT ©g) (d) En masses
). When wild Life Protection Act was passed? gRI—ulra een afifad da wiRa g
- (a) 1982 (b) 1978 (¢) 1976 (d) 1972
|.  One of the following is not the fundamental concept of environment. )
FrefofEa ¥ 919 o =& WM w@aiawr &1 Tl 87
(a) UNEP (b) Green Peace (c) WWF (d) Red Cross
2. Mainly responsible for destruction of forest. g fHmT &1 [@ FROT TE -
(a) Increase in global temperature (3gar arwm) (b) Soil erosion (YaT 3IXE) 6
(c) Ozone depletion (3 Ridasww)
(d) Over exploitation of resources (FrEAT @1 3ifar ITEH)
3. Water dispute between Karnataka and Tamilnadu is known as 7
Wa Rar dlcs R afterg seear -
(a) Krisha (= fdaw) (b) Kaveri dispute (@1% faam)
(c) Koyana dispute (@g=1 far) (d) Godawari dispute (Tt faare)
4. Which of the state 1s not linked with Ravi-Vyash water dispute-
| M-z I Qe ¥ o1 g T8 & - 3.
(a) Punjab (=) - (b) Rajasthan (RrseIrs)
(c) Hartyana (sRamm) (d) Uttar Pradesh (StR w<¥)
5.  What is the major cause of food crisis in the world? 3@ @71 & sRoT fAvg 7 F471 27
(a) Deforestation (=) (b) Soil erosion (§aT 3uRE) .
(c) Population growth (S gi) (d) Natural disaster (mefas amui)
6. Which one is matching National Park? 751 ¥ o= e usftg S=rme 22 -
(a) Gir National Park - Lion (R witia sem-f¥iz) .
(b) Sunder Bans- Rhino (§=xg3—s)
(¢) Kaziranga-Muskdeer (@oRm-awr &23)
(d) Corbett- Dolphin (e — Saftsa) 2
7. Example of artificial habitat conservation of bio-diversity is :-
f&m amamr 7 Sla-Rfdsar w&or Seevr 4 87 .
(a) Biosphere reserve (Sfigivss JRier) (b)Zoological Park (5o Serm)
(c) Sanctuaries EPIE) (d) National Park (Wr&fia Serm)
58. In which of the following laws, chimney and its discharges have been discussed - &
frw AT @ st RAE ¥ Fod I GBIt 31 99T ST & —
(a) The Wild Life Conservation Act (371 Sfte= w|eqor fam)
(b) Water pollution (Prevention and Control) Act @ ugevT (@ard IR Pz s
(¢) Air Pollution (Prevention and control) Act arg wguvr (Fawer iR =) g . ]
_ (d) Environment Protection Act (gafazer @ ) ‘ :
59. Hunting of wild animals and use of garments made of their dead parts have been incorporated in the -
Eﬁ‘;'m?ﬁmaﬁﬁmﬁmamqamaﬁﬁnﬁ@mﬁ(aﬁ)Wﬂﬁ'ﬂ‘?*aﬁﬁﬁ%:— ]
(a) Environment Protection Act (qaifaxer et fa) | m
(b) Forest Conservation Act (a7 &% F39) (
! (c) The wild life conservatin_\:ﬁ Act (= wfreT wveror @) (
| d) All of the above g |4) i _ “Th
60. En)which region hunti(g:gﬁ right of Tribals is not protected in Wild Life Protection Act. .
L g9 e et g e e 3§ Wi e E | |
i : (b) Jharkhand (FEs) ﬂ
) (a) Chhatisgarh (BfdaTe) ‘ _ AL (
| (c) Nicobarlsland (F@m@R &) | (d) Lakchya dwip (et &T) . Ch
'61. First Environment Summit was organized in the year:- J
7 v gEiaeer gfHa &1 JeE §9 qf g3 — (
| (a) 1972 (b) 1971 (c) 1974 (d) 1992 (4
62 Economark of Indiais -  &-mid ARG BT R E(;)
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) Anearthen pltehel (i V&) (WY Chvaen Yroo (ry )
(a) ARE . CRUMTREIET
1o (W1e91) ‘ . . LERUIRT)
o ”IThv::u mf:l manure e provided by LA Syan ) g man §
l1nthN H:Icnr enotors (rnfdav RAaey) (D) Ehermnl 1ty o, 1#)
[ﬂ) ‘l“."q I;]"ll[ (aﬂhﬁ‘“ 'l.|ittl) {{” “\Fl‘lih.lm Tl NOWE hil-l}‘;l”*lt{‘_’fn 5"1}
() .nm”i.-" s 0N ansaved  Thmland rond nnd Pl wbos ato by onled
ad. Planting l:H;'; & (et deren (e Ay epel) vl i mgenar
- LR L " ' '
gﬂ“)‘ﬂjia:pinl forestry (emmiSras ailvait ) (b) Agro Torostry win winii)
{El; [‘h‘““rﬂl I"‘anH“'h! ("ﬂ'l‘"“” *Uhn ““ ( OUImGreInt fogeyi Y i s iyt f:f,”

. = npe 1o ndlan Poresty’
., " bas oaused maximum din |
65, Which has ) G SRIAY I B A 1ol B

6.

sdlal e |
1;1:; Qelective harvesting (e mend) () Yook Cittimg (dyon, i if)
) Taungya oultivation (e ) () I Coltivation Gy i)

amnse (or the extinetion of species It |
o Thomabm e ol v
() Floods (1) (h_) Funting (0d) (o) JHFlHHIIIllllfulllm (o iy
(d) Destruetion of natural habitats ,  Guagleen anenst il 1)
+7. The functions of tree plantation I celebrated through |
v I0E A wial & W Ay -
(@) Lnvironment Day (1w Iﬁtlﬂl) () Vanikaran (ohmvu)
() Qocial forestry programimne (¢TI byl H}Iihhll)
(d) Vasant Mahotsav (1 M) |
k8. Considering Climate Change, o decrense in lemprofure lends (o
araany () ufercla & R a8
(a) Lower evaporation (e ariau) () Fndlstorms (uiefee i)
L (¢) Snowlall SRR . (d) Higher i,wypurun““ (cgr] ey 4
A recent technique for the study of Vegetation J§ @ g 5l censtien B aspufer siends ms
(a) Ground Photography (R aeinm)  (b) Remote Sensing (J2sfher apmlafa)

(o) Field Work (1w wai) () Obseryation  (emioem)

). Agroforestry and social forestry both Includo (@ anfAal ofy sl ey wr 1oes |
(a) Production forestry (e 1) () Commeroinl forestry (afmfoanm ai#a)
(¢) Afforestation (TFRNA) (d) Plantation of trees  (andr»)

1. Deforestation will doorease; P arer ar d g 8 ¢ | | ,
(n) Soil erosion (a1 arvas) (b) Landslide aworte) (¢) Sofl fortlity (i wdwp) () Rainfall - (44)

2. INSAT system is a type of © 93¢ [ARY wei Wasrw wy |
(a) Satellite (Vg ) (h) Geostationary Sntellite (e wimuz)

(¢) Sun-Synchronous Satellite (vl geumrel) @) (d) Orbit - Sntellite  (enfae i)
3. IUCN stand for : TUCN wwenar ¢ i~ » | |
(n) Indian Union of Chemical Nomeneluture (b) Indian Union of Congervalion of nature

(¢) International Union for conservation of nature
(d) International Union for conservation of nuirients

4. There is a decrease in _ bocause of deforestntion: (ydfepuur i mor m iﬁ‘il § e
(a) Soil erosion (741 SNaT) (b) Global warming (e 1mHiEe)
(¢) Rainfall (aui) () Drought (v

; . i LTel d "i
75.The management of resources on earth whieh maintaing the balance hetween human requirements af

other species is : -
Ar7a R ey wonfoat o dver gedr & e m e Sfge oy vim B
(a) Conservation (vivamm) (h) Conversion (@)
(¢) Diversity of Eco system (nfefteltval) [afRwjer)
(d) Geological diversity  (sfwnfar falawm)
76. The life supporting gases such as Oy, Co, andN , are primarily concentrated in
fas1 weras N8 A O; Co; and N, sufterr yuty § -

.——
7
.?I
;
*
f
4
d:

(a) Troposphere (e ¥w) (b) Exosphere (aftud)
(¢) homo sphere (@hvhay) (d) Stratosphere  (weny H8ef)
77. Chernobyl Tragedy was related to one of the following factors | e
Ayt amrd) e & @ famn go me & yafi oy (e e e |

(8) Radioactive Radiation  (fgaherd) (afmvor ) - sl A
(b) Atomic Explosion (remmy fasafie) (o) Earthquake (me) fEa

, (5) L
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(d) Volcanic Eruption (Saremedt S57R)
78. West Bengal is having problem of : |
UREH G B T g - -
(a) Lead pollution (a2 wgym) (b) Air pollytion (arg ¥
(¢) Arsenic pollution @%@ wgav) (d)None of these (210 & 18 1 )

79.The exotic weed that has created problem of air pollution in India g :
faeel arrure Rt wver & arg vgwer @ e S @ 8-

(a) Carrot grass (TR T ) (b) Ventiver Grass (@d #im)

(c) Maize (waa) (d) Lemon grass (@ )
80. Smog is : .

AL '

(a) A natural phenomenon (mmfa fian) ,

(b) A combination of smoke and fog (g1t 3R e w1 Aoy -

(c) General forestry (PR ) (d) All of the above (uwr w4)
81. Which of the following are likely to be present in photochemical smog?

RefaRen & 3 & wefies g & B § sowRm vear 37 '

(a) Sulphur dioxide (wew SIS S) (b) Smog ()

(¢) Chlorofluorocarbon (FeRivaRY H1d)

(d) Photochemical oxidants (®veY Sfvarer aree)
82. What are the sources of toxic wastes in marine life?

el oife & falen dor wg @y 87
(a) Metals from mining (arq @ @) (b) Industries (@)
(c) Pesticides from farm (@Y & DISTTIIR)) (d) All of them (sudaer w+)

83. What is the reason for the causes of drought?
&T &1 TT HRT 8?

(a) Floods (a)
(b) Tsunami (garh)
(c) Land slide (3%r) (d) Excessive use of ground and surface water
(BITTE® YL YT St 3R W o7e) |
84. Which of the following UV radiations is responsible for causing sun bums and skin cancer?
ﬁﬂﬁ'ﬁaﬁﬁﬁmUVﬁﬁﬂwﬁW@?ﬁmmm%:+_
(a) UV-A (b) UV-B (c) UV -C (d) All of the above (@)
85.Where was the first use of nuclear bombs which cause death to the millions of lives ?
ﬁmwﬁmmmwﬁwwﬁwmaﬁzﬁaﬁﬂﬁ? |
(a) Karachi (&%) (b) Melbourne and Sydney (ferd= ofw faa)
(c) Hiroshima and Nagasaki (@Rrfrm =smmerma) (d) Tokyo (e
86. Acid Rain is caused by emission of -

A q97 39d BRI BIAT © —
(a) Sulphur dioxide (resvsriTREe) (b) Nitrogen oxide (EgrT amaqEe)
(c) Both A and B (SmT (a) 2 (b)) (d) Carbon dioxide (#1d= z™adEs)

. 87. Today the World's Number one problem is:

| fazg &1 a9 gl wHET W8 8 -

(a) Pollution (vrggv) _ (b) Population explosion (s fape)
(c) Nuclear proliferation (g (d) Natural Calamities (arsfers 2mmae)

88. All the members of a particular species that lives in one area are galled a -
Ud &= 4 e faftre gonifa & Wi wewi & A @ aed § -

(a) Biome (Si9 ¥R ) (b) Population (Si=em)

(c) Community (¥9em) (d) Ecosystem  (uififRefe <=)
89. Organism obtaining food from dead organisms are called:
gasirdl W 9T A U< A qhel BEART § -

(a) Saprophytes (gaiaciidr) (b) Autotraps ()
(c) Symbionts (HBSid) (d) None of these (7 & B =2)

90.Which of the following is not recycled in the biosphere?
98 § ©F 99 Aved ¥ YA gfha & gar -~

(a) Energy (&%) (b) Nitrogen (Fggom)
(¢c) Carbon (#Td") (d) Water (a7

91.The specific place of an organism in an ecosystem is called as :
yfzefi@id egaven 4 Sifg &7 faftre vee 71 ssemar 87

(a) Niche (fren (b) Autotroph  (verdidh)
(6)

e — T S e

L]
e Sl il — ] W o

S
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Trophic level | CFI’TF“] Q) o

the following is not spread by water - d) Food pyramid farer frorma

| \a.!h'ﬂ‘;;fﬁq A B g e b sl &7 d (arer Maifhg)
Diarthea (€N

l - .
N (‘holera (&) (0) Malaria (A Ra)

| (c) ich can be I (d) Dyse -
- cease which can be transmitted throuph imnroner feae.p. ) ySeniery  (yia)
L h;g;l%ﬁ qad WIFFR T A 4§yl @i @ - Proper transfusion iy
(1) 51175?[ qC\ (:;J ) (b) Cancer (hwv)
(c) Diabete: H ‘1. ) o (d) Typhoid (ersprea
1Rally for Valley" programme in India was organized to highlipht ihe P .Pl]l
B : problem of

C ya M el B el HRIBAH @ ANSF 3 Fyre W @Y T
I fba (n) Environmental degradation

(b) Bio- diversity  (91a RRAwn)

(c) Resettlement of displaced people (Rl aifgqi g onle

(d) Loss of Agriculture (@R 3y &) &) [

[ndia brown revolution 18 related with the production of - .
gs.ln‘m ¥ o i wRRT § - hol:

(a) Solar production (¥R &Il weuTe W)

gy o prnductionﬁ (R e 9) - (¢) Milk production (g eqrer

(d) Bio-gas production (qravieT TR W) (1 e )
96, Ghost town is related with :

QU@ TN &1 WY g

(a) Mining (@ ) (b) Land Slide (rezrerr 4
(c) Earth quake ({®H Q) (d) Cyclones (amamr ) 4 }
97. Which one of the following days 'World Water Day' is celebrated
e ¥ O fw R Ry sr@ Raw wwmn s @2
(a) 22 January (22 SEEN) (b) 22 February (22 wvad)
(c) 22 March (22 ) | (d) 22 April (22 i)
98 Planting food crops and tree crops as a mixture is called:
R o @ @ AR U Wl FHEer §
(a) Social forestry (WrRr® aifie) (b) Afforestation (a==rqor)
(c) Reforestation (qT®H<v) (d) Agroforestry (@ff arf®1)
99, Symptoms of blindness in children due to deficiency of :
ST BT ORI WAt § FHA) BH QA § -
(a) Protein ~ (WIfe+) (b) Vitamin A (Fer= A)
(¢) Vitamin B (®er= B) (d) Vitamin C (e C)
100.World's thickest layer of coal is found in :
favg &1 Aier W e &1 Hada 8-
(a) Uttar Pradesh (SSR w<¥) (b) Madhya Pradesh (g wev)

(c) Jharkhand (ERES) (d) Chhattisgarh  (S<iTg)
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